NATIONAL TALENT SEARCH EXAMINATION

NTSE STAGE-Il (2016)
CLASS-X [MAT]_TEST DATE : 08-05-2016

HINTS & SOLUTIONS

ANSWER KEY

Ques.| 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15
Ans. 3 3 2 3 2 1 4 3 2 1 2 4 3 3 1
Ques.| 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. | 2 3 1 4 2 2 4 2 3 2 3 1 3 1 2
Ques.| 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
Ans. 3 4 2 3 1 3 4 4 3 1 2 3 4 1 4
Ques.| 46 47 48 49 50
Ans. 3 3 3 2 3

21 10 17 13 13
1 4 2510y (73.9 uo1 J27,Q78 M81,M65
D3Y M 1 |
-13 -13 -13
16
P 243ISC
2. (0.8)*=0.512

(0.04)* = 000064

3.
®
Option 2 is correct
F is sitting third to the left of G.
4, Option 3 H & F are sitting next to each other.
5. Option 2 ECHFBDG
6.
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Q.10-12

2nd 51h 3rd 3rd 4th
H E Sci M Sans
181
A 3¢ X X X v X
B X X v X X
C v X X X X .
1" Sci > B
nd
D 5" X v X X X 2" H—=C
3¢ M—A
E 4| x x x x v 4" Sans —>E
5" E—D
®
Green

Blue | Yellow | Black
13. Ans. 3 Red

Orange

14. Ans. 3

=+33x11+9%x28+4-5 after changing the sign
=-33+11-9+28+4x5

=-33+11-9+7x5

=—42+46=4
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15.

16.

17.

18.

19.

20.

/\

18 51 19 15
R EA S O
-2 +2\l,2\l,+2 —2\l,+
16 7 25 2113
P GY UM

Husband = Wife

/ \\

A B C

14

N b
2\1, _2\1'
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Present Age Husband = Present age of wife + 5.
Present Age of wife = 2 x Present Age of A
Present Age of A= 12 + Present Age of B.

Present Age of B = 3/2 x Present age of C.

Present Age of C = 12 years
3,43 =18
== = rs.
Z E

A=12+18 =30 yrs.

Wife =2 x 30 =60
Husband = 65 yrs.

yrs.

Friend’s Age = Age of Husband — 15 = 50 yrs.

Pritam , Zeba, joy & Anu
Alphabatical order — Anu, Joy, Pritam, Zeba
— 3 weeks — 15 days

Anu Joy Pritam Zeba
4 day 4day 4day 3 day
Zeba — 3 days
Mon Tue Wed
| —> A J P
N—> J P
"n— P Z A
Or
Anu M
Joy T M
Pri W T M
Zeba Th w Tu
Anu Fri Th. w
Joy Fri Th
Pri Fri
S.P.=1000 x 40 ﬂ-240
T 100 ~ 100
4x5= 20
Y1 —e+m=-7
13
2 5
9 3 9x3= 27
-(4+5)=-9
4 5 18
Resonance®
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Thu

Fri

N
o

N
SIS

Working days — Monday — Friday

®
6 6x4= 24
—(7+2)=-9
7 15
8 8x3= 24
~(4+6)=10
4 14
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21,

23.

24,
25,
26.
29,

30.
32,

33.
Ans.

34,

/\
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Reena > Ritu > Zeha
X+2 X x-3
ATQ2x—-1=3 (x-5)
2x—1=3x-15
x=14

24-26.

vl [ ]

Ans. 3
Ans. 2
Ans. 3

We have four horses in one race
divide 16 horses in for groups

OOO0O0O 00O 00O OOO0O0O
|

[l 1] v
now two conditions are there
| — If both the fastest are in same group
Il —If one is in one group and 2nd is in other group.
To determine the fastest, four rases in groups now conduct 5 race between all groups toppers so we
can detemine the fasters .
Now in 6th race take 2nd of 5th race, take rest 3 of the group from which the fastest horse.
So the topper of 6th will be 2nd toper of 16.

bcegk ?q s
235711131719
series of prime no. 13=m

55352
15456
Opp. of 2is 6.

2,10,30,68, .....coevenee , 222
13+1,22+2,33+3,4°+4,5°+5
5°+5=125+8 =130 Ans. 2

T-SxB-M
(€]
B« M®
!

TS

(€] @

S is son of B, not daughter Ans. 3




3

(3,}

36.

38.

39.

41,

42,

/\
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o N(CE

(i) either I or Il & III follows.

o 23 197 443
) ) 106 21 643
% 51, 9,

N/ N/ \/
14 28 55 113 \421

R>V
A>P Parul lies between Rand A
S>P
A>P>R>V
in case - |
S>A>P>R>V
in case- |l

A>S>P>R>V
So Ans (4) Parul is elder to Veena

12+ 52+ 7°=75
F+77+8 =194
So, 82+ 3+ 4= 80

For 8 beats it takes 7 intervals
7 interval — 8 sec.

8
1 interval — 7 Sec.

10 intervals — gx 10 =11.43 second

6

N

4

3
Pieces
2
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Q. 43-45

(Tallest) (Shortest)
Foot [ Cri. | Tennis| Kaba [Sqgnash | Vollyball
Tarun| Vv x X x x x
Umesh x x x \/ % % T>P Height
U
T>S K
Prem| X x X T
P
K | X X % S
ama R
Ramesh| X x X X X v
Shyam X x X
121 81 81 49

46. W

47. (-5 + 12

48,

-0
-B
-3
—¢&

<>x -

100
— 21) ——
92 99(10%1), 102

(12— 10) + 22

TRAY — p0se

49. Monday 20 x 25 = 500

500= First 5days

10x5
50

50 + 75 + 100 + 125 + 150 = 500

50. length of diagonal = /|2 1 h2 4 p?

/\ Resonance®
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(18— 15)% + 32

Second 5day
15%x5

57 80(9-1), 57 =5 63(8-1),

6436 . 4925 _
57 o2 8(-1), -7 57 35(6°-1)

(24 = 20)° + 42

Third 5 day Fourth5day  Fifth 5day
20 x5 25x5 30x5
100 125 150

®

{ NTSE_STAGE-ll _ SAT SOL.-2016_PAGE # 6




NATIONAL TALENT SEARCH EXAMINATION
NTSE STAGE-Il (2016)

LANGUAGE COMPREHENSIVE TEST (LCT)

CLASS-X [ENGLISH]

Ques.| 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15
Ans. 3 2 2 4 3 4 4 2 4 2 2 1 2 1 4
Ques.| 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. 3 3 3 4 1 2 4 1 3 1 3 4 2 2 2
Ques.| 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
Ans. 3 2 4 4 3 2 1 2 1 1 3 1 2 1 4
Ques.| 46 47 48 49 50

Ans.| 4 3 2 3 1

LANGUAGE COMPREHENSIVE TEST (LCT)
CLASS-X [HINDI]

Ques.| 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans. 3 2 2 4 3 4 4 2 4 1 2 1 2 1 3,4
Ques.| 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. 3 3 3 4 1 2 4 1 3 1 % 4 3 2 2
Ques.| 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
Ans. 3 3 4 2 1 2 1,2 4 3 1 3 3 2 4 4
Ques.| 46 47 48 49 50

Ans. 4 1,2 2 3 1
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